#### College of Arts and Sciences

Anthropology and Sociology

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained	Cumulative within	Graduated 4 yrs*	Cohort F	Retained	Cumulative within		Cohort F	Retained		Graduated 6 yrs	Cohort I	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	12	12	11	91.7	9	75.0	8	66.7	7	58.3	2	16.7	8	66.7	0	0.0	8	66.7	0	0.0
2003	8	8	7	87.5	7	87.5	4	50.0	3	37.5	2	25.0	5	62.5	0	0.0	5	62.5	0	0.0
2004	19	19	14	73.7	11	57.9	11	57.9	6	31.6	5	26.3	9	47.4	1	5.3	10	52.6	0	0.0
2005	5	5	4	80.0	3	60.0	3	60.0	1	20.0	2	40.0	1	20.0	0	0.0	1	20.0	0	0.0
2006	9	9	5	55.6	4	44.4	3	33.3	2	22.2	1	11.1	3	33.3	0	0.0	3	33.3	0	0.0
2007	11	11	8	72.7	8	72.7	6	54.5	4	36.4	3	27.3	6	54.5	1	9.1	7	63.6	0	0.0
2008	11	11	10	90.9	7	63.6	7	63.6	3	27.3	4	36.4	6	54.5	1	9.1	7	63.6	0	0.0
2009	10	10	9	90.0	8	80.0	7	70.0	4	40.0	4	40.0	7	70.0	0	0.0	7	70.0	0	0.0
2010	23	23	17	73.9	13	56.5	13	56.5	8	34.8	5	21.7	12	52.2	0	0.0				
2011	26	26	18	69.2	16	61.5	13	50.0	9	34.6	6	23.1								
2012	17	17	9	52.9	8	47.1	6	35.3												
2013	13	13	9	69.2	8	61.5														
2014	12	12	10	83.3																
2015	7	7																		

 3yr Average
 68.5
 36.5

 Std Dev.
 12.4
 2.5

\*Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

Art

		Cohort	2nd	l Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort I	Retained	% 1F n % 1F			Retained		Graduated 4 yrs*	Cohort F	Retained	Cumulative within	Graduated 5 yrs	Cohort F	Retained	Cumulative within	Graduated 6 yrs	Cohort I	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	25	25	18	72.0	17	68.0	16	64.0	13	52.0	1	4.0	16	64.0	0	0.0	16	64.0	0	0.0
2003	18	18	16	88.9	9	50.0	11	61.1	7	38.9	4	22.2	10	55.6	0	0.0	10	55.6	0	0.0
2004	Starting in	Fall 2004, A	Art was mov	ved to the C	ollege of Vi	sual and Pe	erforming A	rts												

\*Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

Biology

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th				7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained		Graduated 4 yrs*	Cohort F	Retained		Graduated 5 yrs	Cohort F	Retained		Graduated 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	45	45	40	88.9	36	80.0	37	82.2	22	48.9	14	31.1	31	68.9	5	11.1	32	71.1	1	2.2
2003	43	43	35	81.4	28	65.1	27	62.8	15	34.9	11	25.6	25	58.1	1	2.3	26	60.5	0	0.0
2004	57	57	49	86.0	46	80.7	43	75.4	25	43.9	16	28.1	39	68.4	1	1.8	40	70.2	1	1.8
2005	61	61	54	88.5	46	75.4	41	67.2	29	47.5	13	21.3	38	62.3	1	1.6	39	63.9	0	0.0
2006	54	54	46	85.2	46	85.2	42	77.8	26	48.1	15	27.8	38	70.4	3	5.6	40	74.1	2	3.7
2007	57	57	50	87.7	44	77.2	41	71.9	22	38.6	15	26.3	38	66.7	1	1.8	39	68.4	2	3.5
2008	67	67	54	80.6	51	76.1	51	76.1	31	46.3	19	28.4	43	64.2	4	6.0	45	67.2	1	1.5
2009	67	67	58	86.6	50	74.6	48	71.6	26	38.8	19	28.4	41	61.2	2	3.0	43	64.2	0	0.0
2010	88	88	70	79.5	63	71.6	59	67.0	38	43.2	19	21.6	56	63.6	3	3.4				
2011	88	88	79	89.8	68	77.3	62	70.5	34	38.6	22	25.0								
2012	116	116	98	84.5	95	81.9	93	80.2												
2013	107	107	94	87.9	91	85.0														
2014	109	109	92	84.4																
2015	132	132																		

 3yr Average
 85.6
 40.2
 66.6

 Std Dev.
 1.6
 2.1
 1.8

\*Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

Chemistry

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained	Cumulative within	Graduated 4 yrs*	Cohort F		Cumulative within		Cohort F	Retained		Graduated 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	38	38	30	78.9	24	63.2	25	65.8	15	39.5	8	21.1	20	52.6	1	2.6	22	57.9	0	0.0
2003	52	52	46	88.5	40	76.9	36	69.2	26	50.0	8	15.4	32	61.5	2	3.8	33	63.5	1	1.9
2004	50	50	43	86.0	37	74.0	34	68.0	18	36.0	15	30.0	27	54.0	6	12.0	28	56.0	4	8.0
2005	58	58	49	84.5	46	79.3	44	75.9	26	44.8	19	32.8	41	70.7	2	3.4	42	72.4	0	0.0
2006	49	48	39	81.3	34	70.8	29	60.4	17	35.4	13	27.1	26	54.2	3	6.3	29	60.4	0	0.0
2007	62	62	50	80.6	49	79.0	46	74.2	24	38.7	18	29.0	38	61.3	2	3.2	41	66.1	1	1.6
2008	56	56	51	91.1	47	83.9	44	78.6	31	55.4	15	26.8	40	71.4	2	3.6	42	75.0	0	0.0
2009	50	50	43	86.0	40	80.0	38	76.0	26	52.0	10	20.0	32	64.0	5	10.0	34	68.0	2	4.0
2010	53	53	48	90.6	48	90.6	41	77.4	29	54.7	13	24.5	40	75.5	2	3.8				
2011	63	63	53	84.1	52	82.5	51	81.0	39	61.9	11	17.5								
2012	54	54	44	81.5	43	79.6	40	74.1												
2013	66	65	54	83.1	50	76.9														
2014	55	55	48	87.3																
2015	84	84																		

 3yr Average
 83.9
 56.2
 69.7

 Std Dev.
 2.4
 4.2
 3.8

**Communications Studies** 

Cohort (	Initial Cohort	After IPEDS	Cohort F	Descioned.							Fall			6th	un			7th	uli	/
2002				Retained	Cohort F	Retained	Cohort F	Retained	Cumulative within	Graduated 4 yrs*	Cohort F	Retained		Graduated 5 yrs	Cohort F	Retained		Graduated 6 yrs	Cohort I	Retained
2002		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	38	38	31	81.6	31	81.6	28	73.7	23	60.5	6	15.8	28	73.7	1	2.6	29	76.3	0	0.0
2003	58	58	49	84.5	41	70.7	39	67.2	28	48.3	12	20.7	37	63.8	2	3.4	37	63.8	0	0.0
2004	58	57	51	89.5	40	70.2	37	64.9	23	40.4	13	22.8	37	64.9	1	1.8	37	64.9	2	3.5
2005	50	50	43	86.0	42	84.0	37	74.0	32	64.0	6	12.0	38	76.0	1	2.0	39	78.0	0	0.0
2006	47	47	39	83.0	34	72.3	31	66.0	26	55.3	6	12.8	30	63.8	0	0.0	30	63.8	0	0.0
2007	47	47	40	85.1	40	85.1	38	80.9	33	70.2	8	17.0	38	80.9	1	2.1	39	83.0	0	0.0
2008	40	40	34	85.0	32	80.0	32	80.0	23	57.5	7	17.5	28	70.0	0	0.0	28	70.0	0	0.0
2009	34	34	30	88.2	25	73.5	26	76.5	20	58.8	6	17.6	24	70.6	1	2.9	24	70.6	2	5.9
2010	36	36	30	83.3	28	77.8	24	66.7	18	50.0	5	13.9	22	61.1	1	2.8				
2011	62	62	53	85.5	53	85.5	52	83.9	40	64.5	12	19.4								
2012	41	41	38	92.7	37	90.2	35	85.4												
2013	63	63	51	81.0	47	74.6														
2014	53	53	49	92.5																
2015	37	37																		

 3yr Average
 88.7
 57.8
 74.5

 Std Dev.
 5.5
 6.0
 6.0

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

~	mnı	.4~=	0~	 

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained		Graduated 4 yrs*	Cohort F	Retained	Cumulative within		Cohort F	Retained		Graduated 6 yrs	Cohort I	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	34	34	31	91.2	24	70.6	24	70.6	13	38.2	10	29.4	18	52.9	3	8.8	20	58.8	1	2.9
2003	21	21	21	100.0	16	76.2	12	57.1	9	42.9	5	23.8	11	52.4	2	9.5	13	61.9	0	0.0
2004	15	15	12	80.0	11	73.3	10	66.7	4	26.7	6	40.0	7	46.7	2	13.3	9	60.0	0	0.0
2005	14	14	13	92.9	8	57.1	8	57.1	5	35.7	2	14.3	7	50.0	0	0.0	7	50.0	0	0.0
2006	19	19	13	68.4	13	68.4	10	52.6	5	26.3	6	31.6	9	47.4	0	0.0	9	47.4	0	0.0
2007	20	20	17	85.0	16	80.0	16	80.0	10	50.0	5	25.0	15	75.0	0	0.0	15	75.0	0	0.0
2008	14	14	13	92.9	13	92.9	11	78.6	5	35.7	7	50.0	10	71.4	2	14.3	12	85.7	0	0.0
2009	13	13	10	76.9	11	84.6	10	76.9	5	38.5	4	30.8	7	53.8	1	7.7	8	61.5	0	0.0
2010	25	25	22	88.0	20	80.0	20	80.0	15	60.0	5	20.0	18	72.0	2	8.0				
2011	30	30	22	73.3	22	73.3	22	73.3	11	36.7	10	33.3								
2012	25	25	23	92.0	21	84.0	19	76.0												
2013	22	22	18	81.8	17	77.3														
2014	44	44	41	93.2																
2015	44	44																		

 3yr Average
 89.0
 45.0
 74.1

 Std Dev.
 5.1
 10.6
 9.9

## English

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th I	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained		Graduated 4 yrs*	Cohort F	Retained	Cumulative within	Graduated 5 yrs	Cohort F	Retained		Graduated 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	38	38	27	71.1	29	76.3	27	71.1	13	34.2	11	28.9	24	63.2	1	2.6	24	63.2	1	2.6
2003	57	56	43	76.8	35	62.5	34	60.7	22	39.3	12	21.4	28	50.0	3	5.4	30	53.6	0	0.0
2004	53	53	48	90.6	31	58.5	29	54.7	19	35.8	8	15.1	25	47.2	2	3.8	28	52.8	0	0.0
2005	65	65	55	84.6	48	73.8	47	72.3	27	41.5	17	26.2	43	66.2	2	3.1	45	69.2	1	1.5
2006	59	59	54	91.5	47	79.7	45	76.3	16	27.1	26	44.1	37	62.7	4	6.8	40	67.8	1	1.7
2007	61	61	52	85.2	47	77.0	45	73.8	33	54.1	11	18.0	42	68.9	2	3.3	43	70.5	1	1.6
2008	68	68	59	86.8	49	72.1	47	69.1	27	39.7	20	29.4	40	58.8	4	5.9	41	60.3	2	2.9
2009	78	78	69	88.5	65	83.3	63	80.8	33	42.3	24	30.8	55	70.5	5	6.4	58	74.4	0	0.0
2010	66	66	56	84.8	51	77.3	50	75.8	35	53.0	12	18.2	44	66.7	3	4.5				
2011	66	66	56	84.8	53	80.3	50	75.8	34	51.5	14	21.2								
2012	59	59	51	86.4	49	83.1	48	81.4												
2013	50	50	43	86.0	41	82.0														
2014	48	48	41	85.4																
2015	59	59																		

 3yr Average
 86.0
 49.0

 Std Dev.
 0.4
 4.7

 5.9
 5.9

3

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

Geology and Astronomy

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th I	Fall			6th I	all			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained		Graduated 4 yrs*	Cohort F	Retained	Cumulative within	Graduated 5 yrs	Cohort F	Retained		Graduated 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	6	6	5	83.3	5	83.3	5	83.3	2	33.3	3	50.0	5	83.3	0	0.0	5	83.3	0	0.0
2003	11	11	8	72.7	7	63.6	7	63.6	3	27.3	3	27.3	7	63.6	0	0.0	7	63.6	0	0.0
2004	12	12	10	83.3	9	75.0	9	75.0	5	41.7	4	33.3	7	58.3	1	8.3	7	58.3	0	0.0
2005	7	7	3	42.9	3	42.9	3	42.9	1	14.3	2	28.6	2	28.6	0	0.0	2	28.6	0	0.0
2006	4	4	4	100.0	3	75.0	3	75.0	2	50.0	0	0.0	2	50.0	0	0.0	2	50.0	0	0.0
2007	7	6	5	83.3	5	83.3	5	83.3	5	83.3	0	0.0	5	83.3	0	0.0	5	83.3	0	0.0
2008	3	3	3	100.0	3	100.0	3	100.0	3	100.0	0	0.0	3	100.0	0	0.0	3	100.0	0	0.0
2009	8	8	6	75.0	6	75.0	6	75.0	3	37.5	2	25.0	6	75.0	0	0.0	6	75.0	0	0.0
2010	6	6	5	83.3	3	50.0	3	50.0	2	33.3	1	16.7	3	50.0	0	0.0				
2011	8	8	6	75.0	6	75.0	6	75.0	4	50.0	2	25.0								
2012	17	17	12	70.6	8	47.1	9	52.9												
2013	11	11	10	90.9	8	72.7														
2014	13	13	11	84.6																
2015	12	12														1				1

 3yr Average
 82.0
 40.3

 Std Dev.
 8.5
 7.1

 10.4
 10.4

**Languages and Cultures** 

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort I	Retained	Cohort F	Retained		Graduated 4 yrs*	Cohort I	Retained		Graduated 5 yrs	Cohort F	Retained		Graduated 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	9	9	7	77.8	5	55.6	7	77.8	2	22.2	4	44.4	6	66.7	0	0.0	6	66.7	0	0.0
2003	15	15	12	80.0	11	73.3	8	53.3	3	20.0	5	33.3	7	46.7	1	6.7	8	53.3	0	0.0
2004	20	20	17	85.0	14	70.0	15	75.0	8	40.0	7	35.0	13	65.0	0	0.0	13	65.0	0	0.0
2005	32	32	26	81.3	21	65.6	22	68.8	13	40.6	10	31.3	21	65.6	2	6.3	21	65.6	2	6.3
2006	15	15	11	73.3	11	73.3	11	73.3	7	46.7	3	20.0	11	73.3	0	0.0	11	73.3	0	0.0
2007	27	27	21	77.8	18	66.7	19	70.4	14	51.9	3	11.1	16	59.3	2	7.4	17	63.0	0	0.0
2008	23	23	20	87.0	18	78.3	17	73.9	7	30.4	10	43.5	14	60.9	2	8.7	15	65.2	0	0.0
2009	23	23	18	78.3	16	69.6	18	78.3	12	52.2	6	26.1	18	78.3	0	0.0	18	78.3	0	0.0
2010	32	32	24	75.0	21	65.6	18	56.3	14	43.8	7	21.9	18	56.3	3	9.4				
2011	21	21	19	90.5	16	76.2	16	76.2	9	42.9	6	28.6								
2012	17	17	17	100.0	14	82.4	15	88.2												
2013	11	11	9	81.8	8	72.7														
2014	13	13	9	69.2																
2015	7	7																		

 3yr Average
 83.7
 46.3
 68.8

 Std Dev.
 12.6
 4.2
 6.7

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

н	15	SI	t	า	r

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort I	Retained		Graduated 4 yrs*	Cohort F	Retained	Cumulative within		Cohort F	Retained		Graduated 6 yrs	Cohort I	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	51	51	37	72.5	32	62.7	33	64.7	13	25.5	19	37.3	25	49.0	2	3.9	27	52.9	1	2.0
2003	37	37	31	83.8	27	73.0	25	67.6	14	37.8	12	32.4	24	64.9	0	0.0	24	64.9	0	0.0
2004	64	64	58	90.6	45	70.3	45	70.3	21	32.8	21	32.8	38	59.4	2	3.1	40	62.5	0	0.0
2005	69	69	55	79.7	51	73.9	48	69.6	22	31.9	23	33.3	40	58.0	4	5.8	44	63.8	0	0.0
2006	75	75	62	82.7	56	74.7	52	69.3	21	28.0	31	41.3	48	64.0	3	4.0	49	65.3	2	2.7
2007	79	79	68	86.1	63	79.7	59	74.7	31	39.2	25	31.6	50	63.3	5	6.3	54	68.4	3	3.8
2008	64	64	54	84.4	47	73.4	44	68.8	24	37.5	17	26.6	32	50.0	7	10.9	37	57.8	2	3.1
2009	69	69	62	89.9	56	81.2	59	85.5	26	37.7	33	47.8	52	75.4	6	8.7	55	79.7	1	1.4
2010	78	78	68	87.2	60	76.9	58	74.4	26	33.3	28	35.9	50	64.1	4	5.1				
2011	80	80	69	86.3	63	78.8	59	73.8	25	31.3	30	37.5								
2012	51	51	47	92.2	46	90.2	44	86.3												
2013	41	41	35	85.4	34	82.9														
2014	26	26	25	96.2																
2015	40	40																		

 3yr Average
 91.2
 34.1
 68.6

 Std Dev.
 4.5
 2.7
 8.9

#### **Liberal Studies**

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort I	Retained	Cohort F	Retained	Cumulative within		Cohort F	Retained	Cumulative within	Graduated 5 yrs	Cohort F	Retained		Graduated 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	8	8	7	87.5	7	87.5	7	87.5	4	50.0	2	25.0	7	87.5	0	0.0	7	87.5	0	0.0
2003	6	6	6	100.0	5	83.3	4	66.7	3	50.0	1	16.7	4	66.7	0	0.0	4	66.7	0	0.0
2004	9	9	9	100.0	8	88.9	8	88.9	5	55.6	1	11.1	7	77.8	1	11.1	8	88.9	0	0.0
2005	6	6	3	50.0	2	33.3	1	16.7	1	16.7	1	16.7	2	33.3	0	0.0	2	33.3	0	0.0
2006	12	12	11	91.7	11	91.7	11	91.7	7	58.3	4	33.3	11	91.7	0	0.0	11	91.7	0	0.0
2007	7	7	7	100.0	6	85.7	5	71.4	3	42.9	1	14.3	3	42.9	1	14.3	3	42.9	0	0.0
2008	3	3	2	66.7	2	66.7	2	66.7	0	0.0	2	66.7	2	66.7	0	0.0	2	66.7	0	0.0
2009	19	19	17	89.5	14	73.7	14	73.7	10	52.6	3	15.8	11	57.9	1	5.3	13	68.4	1	5.3
2010	7	7	7	100.0	7	100.0	7	100.0	4	57.1	2	28.6	6	85.7	0	0.0				
2011	7	7	5	71.4	5	71.4	5	71.4	4	57.1	1	14.3								
2012	13	13	13	100.0	11	84.6	10	76.9												
2013	12	12	11	91.7	11	91.7														
2014	7	7	6	85.7																
2015	9	9																		

 3yr Average
 92.5
 55.6
 59.3

 Std Dev.
 5.9
 2.1
 11.7

5

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

		ire

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained	Cumulative within	Graduated 4 yrs*	Cohort F	Retained		Graduated 5 yrs	Cohort F	Retained		Graduated 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	29	29	22	75.9	22	75.9	19	65.5	10	34.5	6	20.7	15	51.7	0	0.0	15	51.7	0	0.0
2003	30	30	27	90.0	24	80.0	23	76.7	13	43.3	10	33.3	20	66.7	3	10.0	22	73.3	1	3.3
2004	29	29	24	82.8	22	75.9	22	75.9	11	37.9	11	37.9	19	65.5	2	6.9	21	72.4	0	0.0
2005	36	36	29	80.6	27	75.0	25	69.4	15	41.7	9	25.0	22	61.1	3	8.3	24	66.7	1	2.8
2006	38	38	32	84.2	27	71.1	26	68.4	16	42.1	10	26.3	22	57.9	4	10.5	24	63.2	0	0.0
2007	42	42	33	78.6	31	73.8	29	69.0	19	45.2	9	21.4	25	59.5	2	4.8	27	64.3	0	0.0
2008	42	42	33	78.6	29	69.0	25	59.5	14	33.3	11	26.2	20	47.6	3	7.1	23	54.8	0	0.0
2009	49	49	43	87.8	38	77.6	35	71.4	14	28.6	20	40.8	30	61.2	6	12.2	35	71.4	2	4.1
2010	63	63	55	87.3	53	84.1	51	81.0	27	42.9	22	34.9	43	68.3	5	7.9				
2011	55	55	46	83.6	46	83.6	42	76.4	28	50.9	15	27.3								
2012	39	39	33	84.6	30	76.9	29	74.4												
2013	59	59	51	86.4	49	83.1														
2014	38	38	32	84.2																
2015	43	43																		

 3yr Average
 85.1
 40.8
 63.5

 Std Dev.
 1.0
 9.2
 6.8

Philosophy

Philosoph	y																			
		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort I	Retained	Cohort F	Retained	Cohort I	Retained		Graduated 4 yrs*	Cohort F	Retained	Cumulative within		Cohort F	Retained		Graduated 6 yrs	Cohort I	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	0	-	-	-	-	-		-	-	-	-	-	-	-	-	-	-	-	-	-
2003	2	2	1	50.0	1	50.0	1	50.0	0	0.0	1	50.0	1	50.0	0	0.0	1	50.0	0	0.0
2004	3	3	2	66.7	2	66.7	2	66.7	0	0.0	2	66.7	0	0.0	1	33.3	1	33.3	0	0.0
2005	7	7	3	42.9	3	42.9	3	42.9	3	42.9	0	0.0	3	42.9	0	0.0	3	42.9	0	0.0
2006	1	1	1	100.0	1	100.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
2007	2	2	2	100.0	2	100.0	2	100.0	1	50.0	1	50.0	1	50.0	0	0.0	1	50.0	0	0.0
2008	4	4	4	100.0	3	75.0	3	75.0	2	50.0	1	25.0	3	75.0	0	0.0	3	75.0	0	0.0
2009	2	2	2	100.0	2	100.0	2	100.0	1	50.0	1	50.0	2	100.0	0	0.0	2	100.0	0	0.0
2010	2	2	1	50.0	1	50.0	1	50.0	1	50.0	0	0.0	1	50.0	0	0.0				
2011	3	3	1	33.3	1	33.3	1	33.3	1	33.3	0	0.0								
2012	3	3	0	0.0	0	0.0	0	0.0												1
2013	3	3	3	100.0	3	100.0														
2014	3	3	3	100.0																1
2015	3	3																		

 3yr Average
 66.7
 44.4
 75.0

 Std Dev.
 47.1
 7.9
 20.4

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained	Cumulative within	Graduated 4 yrs*	Cohort F	Retained	Cumulative within	Graduated 5 yrs	Cohort F	Retained		Graduated 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	8	8	6	75.0	5	62.5	4	50.0	1	12.5	3	37.5	2	25.0	1	12.5	2	25.0	1	12.5
2003	11	11	6	54.5	5	45.5	5	45.5	3	27.3	1	9.1	4	36.4	0	0.0	4	36.4	0	0.0
2004	5	5	5	100.0	5	100.0	5	100.0	3	60.0	1	20.0	5	100.0	0	0.0	5	100.0	0	0.0
2005	18	18	14	77.8	12	66.7	12	66.7	6	33.3	5	27.8	9	50.0	2	11.1	10	55.6	1	5.6
2006	10	10	10	100.0	8	80.0	6	60.0	3	30.0	3	30.0	6	60.0	1	10.0	7	70.0	0	0.0
2007	12	12	9	75.0	6	50.0	7	58.3	0	0.0	6	50.0	5	41.7	1	8.3	6	50.0	0	0.0
2008	16	16	14	87.5	15	93.8	15	93.8	3	18.8	11	68.8	12	75.0	3	18.8	13	81.3	2	12.5
2009	9	9	9	100.0	8	88.9	5	55.6	3	33.3	2	22.2	6	66.7	1	11.1	7	77.8	0	0.0
2010	28	28	26	92.9	23	82.1	19	67.9	9	32.1	8	28.6	18	64.3	2	7.1				
2011	15	15	11	73.3	8	53.3	6	40.0	2	13.3	5	33.3								
2012	28	28	22	78.6	19	67.9	14	50.0												
2013	20	20	17	85.0	15	75.0														
2014	24	24	23	95.8																
2015	32	32																		

3yr Average 86.5 Std Dev.

7.1

26.3 9.2 69.7 14.0

\*Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

Psychology

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th I	Fall			6th I	all			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained	Cumulative within		Cohort F	Retained	Cumulative within	Graduated 5 yrs	Cohort F	Retained		Graduated 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	62	62	51	82.3	43	69.4	42	67.7	25	40.3	13	21.0	33	53.2	3	4.8	35	56.5	1	1.6
2003	57	57	49	86.0	44	77.2	41	71.9	26	45.6	13	22.8	37	64.9	2	3.5	38	66.7	0	0.0
2004	64	64	57	89.1	43	67.2	38	59.4	26	40.6	10	15.6	33	51.6	2	3.1	35	54.7	2	3.1
2005	58	58	52	89.7	45	77.6	45	77.6	30	51.7	13	22.4	40	69.0	4	6.9	42	72.4	2	3.4
2006	65	65	50	76.9	45	69.2	47	72.3	30	46.2	15	23.1	43	66.2	2	3.1	44	67.7	0	0.0
2007	44	44	37	84.1	33	75.0	31	70.5	22	50.0	9	20.5	28	63.6	1	2.3	29	65.9	0	0.0
2008	53	53	50	94.3	48	90.6	43	81.1	35	66.0	10	18.9	43	81.1	3	5.7	44	83.0	3	5.7
2009	60	60	48	80.0	46	76.7	44	73.3	31	51.7	12	20.0	40	66.7	3	5.0	43	71.7	1	1.7
2010	81	81	71	87.7	63	77.8	61	75.3	47	58.0	12	14.8	54	66.7	2	2.5				
2011	73	73	62	84.9	58	79.5	57	78.1	41	56.2	15	20.5								
2012	79	79	68	86.1	66	83.5	58	73.4												
2013	92	92	82	89.1	78	84.8														
2014	79	79	68	86.1																
2015	92	92																		

87.1 3yr Average Std Dev.

55.3 2.7 73.5 7.1

\*Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

## Theatre Arts

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained	Cumulative within		Cohort F	Retained	Cumulative within		Cohort F	Retained		Graduated 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	24	24	18	75.0	15	62.5	14	58.3	7	29.2	5	20.8	11	45.8	3	12.5	12	50.0	1	4.2
2003	15	15	14	93.3	14	93.3	13	86.7	3	20.0	6	40.0	9	60.0	1	6.7	10	66.7	0	0.0
2004	Starting in	Fall 2004, 7	heatre Arts	s was move	d to the Col	lege of Visu	ual and Per	forming Art	S											

\*Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

Women's Studies

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th l	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained	Cumulative within		Cohort F	Retained	Cumulative within		Cohort F	Retained	Cumulative within		Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	2	2	2	100.0	0	0.0	1	50.0	0	0.0	1	50.0	0	0.0	1	50.0	1	50.0	0	0.0
2003	0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
2004	1	1	1	100.0	1	100.0	1	100.0	0	0.0	1	100.0	0	0.0	1	100.0	1	100.0	0	0.0
2005	1	1	1	100.0	1	100.0	1	100.0	1	100.0	0	0.0	1	100.0	0	0.0	1	100.0	0	0.0
2006	1	1	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
2007	0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
2008	0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
2009	0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
2010	1	1	1	100.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0				
2011	2	2	1	50.0	1	50.0	1	50.0	0	0.0	1	50.0								
2012	2	2	2	100.0	2	100.0	2	100.0												
2013	1	1	1	100.0	1	100.0														
2014	2	2	2	100.0																
2015	2	2																		

3yr Average Std Dev. 100.0 0.0 0.0 0.0

With degree sweeps and IPEDS exclusions through 10/2015.

#### College of Business and Public Affairs

Accounting

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort I	Retained	Cumulative within	Graduated 4 yrs*	Cohort F	Retained	Cumulative within		Cohort F	Retained		Graduated 6 yrs	Cohort I	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	30	30	25	83.3	23	76.7	20	66.7	9	30.0	12	40.0	18	60.0	1	3.3	18	60.0	1	3.3
2003	34	34	28	82.4	27	79.4	25	73.5	16	47.1	9	26.5	24	70.6	1	2.9	24	70.6	1	2.9
2004	33	33	26	78.8	22	66.7	20	60.6	10	30.3	10	30.3	19	57.6	1	3.0	19	57.6	0	0.0
2005	41	41	35	85.4	33	80.5	32	78.0	16	39.0	15	36.6	27	65.9	1	2.4	28	68.3	1	2.4
2006	39	38	33	86.8	34	89.5	33	86.8	23	60.5	8	21.1	30	78.9	3	7.9	31	81.6	2	5.3
2007	37	37	33	89.2	31	83.8	30	81.1	24	64.9	8	21.6	29	78.4	2	5.4	29	78.4	0	0.0
2008	46	46	37	80.4	36	78.3	34	73.9	17	37.0	15	32.6	29	63.0	3	6.5	31	67.4	2	4.3
2009	67	67	56	83.6	52	77.6	52	77.6	26	38.8	23	34.3	44	65.7	4	6.0	47	70.1	1	1.5
2010	40	40	35	87.5	31	77.5	27	67.5	9	22.5	18	45.0	25	62.5	4	10.0				
2011	63	63	54	85.7	52	82.5	50	79.4	26	41.3	25	39.7								
2012	50	50	46	92.0	42	84.0	41	82.0												
2013	73	73	63	86.3	60	82.2														
2014	91	91	84	92.3																
2015	103	103																		

3yr Average Std Dev. 90.2 2.8 34.2 8.3 72.0 4.7

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall).

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

Criminal Justic	

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained	Cumulative within	Graduated 4 yrs*	Cohort F	Retained	Cumulative within		Cohort F	Retained	Cumulative within	Graduated 6 yrs	Cohort I	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	49	49	35	71.4	32	65.3	30	61.2	21	42.9	4	8.2	26	53.1	1	2.0	26	53.1	0	0.0
2003	40	39	30	76.9	28	71.8	20	51.3	19	48.7	4	10.3	22	56.4	1	2.6	23	59.0	0	0.0
2004	51	51	41	80.4	36	70.6	34	66.7	22	43.1	10	19.6	31	60.8	1	2.0	33	64.7	1	2.0
2005	60	60	51	85.0	47	78.3	43	71.7	33	55.0	10	16.7	40	66.7	1	1.7	41	68.3	0	0.0
2006	51	51	42	82.4	39	76.5	37	72.5	25	49.0	10	19.6	32	62.7	3	5.9	32	62.7	2	3.9
2007	39	39	31	79.5	28	71.8	25	64.1	17	43.6	5	12.8	20	51.3	1	2.6	22	56.4	0	0.0
2008	43	43	35	81.4	32	74.4	30	69.8	19	44.2	8	18.6	25	58.1	2	4.7	28	65.1	0	0.0
2009	50	50	37	74.0	35	70.0	35	70.0	21	42.0	13	26.0	32	64.0	3	6.0	34	68.0	1	2.0
2010	58	57	45	78.9	38	66.7	39	68.4	23	40.4	13	22.8	33	57.9	2	3.5				
2011	42	42	29	69.0	26	61.9	23	54.8	19	45.2	4	9.5								
2012	66	66	52	78.8	46	69.7	45	68.2												
2013	59	59	50	84.7	42	71.2														
2014	49	49	42	85.7																
2015	89	89																		

 3yr Average
 83.1
 42.5

 Std Dev.
 3.1
 2.0

 4.9
 4.9

#### **Economics and Finance**

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th I	Fall			6th I	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort I	Retained	Cohort F	Retained		Graduated 4 yrs*	Cohort I	Retained		Graduated 5 yrs	Cohort I	Retained		Graduated 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	14	14	11	78.6	12	85.7	11	78.6	3	21.4	6	42.9	7	50.0	2	14.3	9	64.3	0	0.0
2003	20	20	16	80.0	15	75.0	14	70.0	5	25.0	7	35.0	12	60.0	1	5.0	12	60.0	0	0.0
2004	12	12	10	83.3	10	83.3	9	75.0	7	58.3	3	25.0	9	75.0	0	0.0	10	83.3	0	0.0
2005	14	14	11	78.6	11	78.6	9	64.3	7	50.0	3	21.4	10	71.4	0	0.0	10	71.4	0	0.0
2006	16	16	15	93.8	15	93.8	15	93.8	10	62.5	4	25.0	13	81.3	1	6.3	14	87.5	0	0.0
2007	18	18	14	77.8	13	72.2	13	72.2	11	61.1	1	5.6	11	61.1	2	11.1	12	66.7	1	5.6
2008	31	31	25	80.6	18	58.1	15	48.4	12	38.7	3	9.7	15	48.4	0	0.0	15	48.4	0	0.0
2009	27	27	23	85.2	24	88.9	24	88.9	13	48.1	10	37.0	20	74.1	1	3.7	21	77.8	0	0.0
2010	22	22	20	90.9	19	86.4	19	86.4	12	54.5	6	27.3	16	72.7	2	9.1				
2011	34	34	26	76.5	25	73.5	23	67.6	15	44.1	8	23.5								
2012	39	39	36	92.3	32	82.1	32	82.1												
2013	41	41	37	90.2	36	87.8														
2014	40	40	37	92.5																
2015	72	72																		

 3yr Average
 91.7
 48.9
 64.3

 Std Dev.
 1.0
 4.3
 12.1

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

Geography and Planning

Geograph	,																			
		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th		
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained		Graduated 4 yrs*	Cohort F	Retained	Cumulative within		Cohort F	Retained	Cumulative within	Graduated 6 yrs	Cohort I	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	1	1	1	100.0	1	100.0	1	100.0	1	100.0	0	0.0	1	100.0	0	0.0	1	100.0	0	0.0
2003	1	1	1	100.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
2004	3	3	3	100.0	2	66.7	2	66.7	1	33.3	1	33.3	2	66.7	0	0.0	2	66.7	0	0.0
2005	2	2	2	100.0	2	100.0	2	100.0	2	100.0	0	0.0	2	100.0	0	0.0	2	100.0	0	0.0
2006	2	2	2	100.0	2	100.0	2	100.0	2	100.0	0	0.0	2	100.0	0	0.0	2	100.0	0	0.0
2007	2	2	2	100.0	2	100.0	2	100.0	1	50.0	1	50.0	1	50.0	1	50.0	2	100.0	0	0.0
2008	3	3	2	66.7	3	100.0	2	66.7	0	0.0	2	66.7	2	66.7	0	0.0	2	66.7	0	0.0
2009	2	2	1	50.0	1	50.0	1	50.0	0	0.0	1	50.0	1	50.0	0	0.0	1	50.0	0	0.0
2010	0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-				
2011	1	1	1	100.0	1	100.0	1	100.0	0	0.0	1	100.0								
2012	3	3	3	100.0	3	100.0	3	100.0												
2013	0	-	-	-	-	-														
2014	3	3	2	66.7																
2015	0	-																		

72.2

20.8

 3yr Average
 83.3
 0.0

 Std Dev.
 16.7
 0.0

#### Political Science

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained		Graduated 4 yrs*	Cohort F	Retained	Cumulative within		Cohort F	Retained		Graduated 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	26	26	24	92.3	19	73.1	17	65.4	12	46.2	3	11.5	14	53.8	0	0.0	14	53.8	0	0.0
2003	24	24	18	75.0	17	70.8	17	70.8	7	29.2	9	37.5	14	58.3	2	8.3	16	66.7	0	0.0
2004	36	36	28	77.8	26	72.2	24	66.7	14	38.9	10	27.8	21	58.3	2	5.6	23	63.9	1	2.8
2005	36	36	29	80.6	29	80.6	27	75.0	21	58.3	5	13.9	25	69.4	1	2.8	25	69.4	1	2.8
2006	34	34	24	70.6	19	55.9	19	55.9	13	38.2	5	14.7	17	50.0	0	0.0	17	50.0	0	0.0
2007	29	29	24	82.8	22	75.9	19	65.5	16	55.2	4	13.8	20	69.0	1	3.4	20	69.0	1	3.4
2008	43	43	37	86.0	34	79.1	31	72.1	23	53.5	7	16.3	30	69.8	1	2.3	30	69.8	1	2.3
2009	50	50	39	78.0	36	72.0	35	70.0	22	44.0	10	20.0	31	62.0	1	2.0	32	64.0	2	4.0
2010	39	39	34	87.2	30	76.9	30	76.9	24	61.5	5	12.8	29	74.4	0	0.0				
2011	48	48	38	79.2	36	75.0	34	70.8	26	54.2	9	18.8								
2012	32	32	28	87.5	27	84.4	25	78.1												
2013	22	22	20	90.9	19	86.4														
2014	42	42	34	81.0																
2015	40	40																		

 3yr Average
 86.5
 53.2
 67.6

 Std Dev.
 4.1
 7.2
 2.6

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

M	an	an	en	nen

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained		Graduated 4 yrs*	Cohort F	Retained	Cumulative within		Cohort F	Retained		Graduated 6 yrs	Cohort F	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	50	50	44	88.0	35	70.0	35	70.0	16	32.0	16	32.0	29	58.0	3	6.0	31	62.0	1	2.0
2003	43	43	35	81.4	31	72.1	30	69.8	16	37.2	12	27.9	27	62.8	1	2.3	27	62.8	0	0.0
2004	38	37	32	86.5	27	73.0	29	78.4	13	35.1	14	37.8	23	62.2	4	10.8	26	70.3	1	2.7
2005	44	43	39	90.7	38	88.4	34	79.1	23	53.5	11	25.6	31	72.1	2	4.7	32	74.4	1	2.3
2006	47	47	36	76.6	37	78.7	35	74.5	24	51.1	11	23.4	34	72.3	2	4.3	36	76.6	0	0.0
2007	51	51	46	90.2	39	76.5	37	72.5	23	45.1	16	31.4	30	58.8	4	7.8	33	64.7	1	2.0
2008	50	50	43	86.0	42	84.0	42	84.0	30	60.0	13	26.0	39	78.0	1	2.0	40	80.0	0	0.0
2009	67	67	55	82.1	54	80.6	51	76.1	25	37.3	25	37.3	44	65.7	5	7.5	47	70.1	2	3.0
2010	51	51	40	78.4	36	70.6	35	68.6	21	41.2	11	21.6	30	58.8	0	0.0				
2011	50	50	41	82.0	37	74.0	36	72.0	25	50.0	9	18.0								
2012	74	74	64	86.5	60	81.1	60	81.1												
2013	73	73	63	86.3	58	79.5														
2014	108	108	95	88.0																
2015	153	153																		

 3yr Average
 86.9
 42.8
 71.6

 Std Dev.
 0.7
 5.3
 6.3

#### Marketing

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th I	all			6th I	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained		Graduated 4 yrs*	Cohort F	Retained	Cumulative within	Graduated 5 yrs	Cohort F	Retained		Graduated 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	37	37	30	81.1	26	70.3	26	70.3	17	45.9	9	24.3	23	62.2	2	5.4	24	64.9	1	2.7
2003	40	40	34	85.0	31	77.5	29	72.5	18	45.0	11	27.5	25	62.5	2	5.0	27	67.5	0	0.0
2004	31	31	23	74.2	22	71.0	19	61.3	16	51.6	4	12.9	20	64.5	1	3.2	20	64.5	0	0.0
2005	39	39	32	82.1	31	79.5	30	76.9	19	48.7	9	23.1	26	66.7	1	2.6	26	66.7	0	0.0
2006	39	39	32	82.1	28	71.8	27	69.2	21	53.8	6	15.4	26	66.7	0	0.0	26	66.7	0	0.0
2007	39	39	33	84.6	31	79.5	29	74.4	24	61.5	6	15.4	27	69.2	1	2.6	28	71.8	0	0.0
2008	43	43	39	90.7	34	79.1	33	76.7	20	46.5	12	27.9	30	69.8	2	4.7	31	72.1	2	4.7
2009	53	53	44	83.0	44	83.0	43	81.1	27	50.9	15	28.3	39	73.6	1	1.9	40	75.5	0	0.0
2010	40	40	31	77.5	31	77.5	33	82.5	22	55.0	10	25.0	29	72.5	0	0.0				
2011	45	45	38	84.4	37	82.2	31	68.9	24	53.3	7	15.6								
2012	63	63	56	88.9	54	85.7	51	81.0												
2013	72	72	63	87.5	59	81.9														
2014	118	118	109	92.4																
2015	143	143																		

 3yr Average
 89.6
 53.1
 73.1

 Std Dev.
 2.0
 1.7
 1.7

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

Sn		

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained	Cumulative within	Graduated 4 yrs*	Cohort F	Retained	Cumulative within	Graduated 5 yrs	Cohort F	Retained		Graduated 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	16	16	11	68.8	9	56.3	11	68.8	7	43.8	4	25.0	9	56.3	2	12.5	11	68.8	0	0.0
2003	19	19	16	84.2	16	84.2	15	78.9	11	57.9	3	15.8	13	68.4	1	5.3	14	73.7	0	0.0
2004	22	22	20	90.9	19	86.4	19	86.4	13	59.1	5	22.7	17	77.3	0	0.0	17	77.3	0	0.0
2005	17	17	14	82.4	13	76.5	14	82.4	9	52.9	5	29.4	12	70.6	2	11.8	14	82.4	0	0.0
2006	22	22	17	77.3	17	77.3	15	68.2	11	50.0	5	22.7	15	68.2	1	4.5	16	72.7	1	4.5
2007	18	18	17	94.4	11	61.1	10	55.6	7	38.9	3	16.7	10	55.6	1	5.6	10	55.6	1	5.6
2008	18	18	15	83.3	12	66.7	11	61.1	7	38.9	3	16.7	10	55.6	0	0.0	10	55.6	1	5.6
2009	27	27	22	81.5	20	74.1	18	66.7	13	48.1	4	14.8	16	59.3	0	0.0	16	59.3	0	0.0
2010	27	27	22	81.5	20	74.1	18	66.7	11	40.7	7	25.9	17	63.0	1	3.7				
2011	26	26	22	84.6	20	76.9	18	69.2	14	53.8	3	11.5								
2012	23	23	21	91.3	17	73.9	16	69.6												
2013	30	30	27	90.0	26	86.7														
2014	32	32	27	84.4																
2015	27	27																		

 3yr Average
 88.6
 47.6
 56.8

 Std Dev.
 3.0
 5.4
 1.7

#### College of Education

Special Education

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th I	Fall			6th	Fall			7th F	all	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained		Graduated 4 yrs*	Cohort F	Retained	Cumulative within	Graduated 5 yrs	Cohort F	Retained	Cumulative within	Graduated 6 yrs	Cohort I	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	39	39	33	84.6	32	82.1	31	79.5	10	25.6	19	48.7	28	71.8	1	2.6	28	71.8	1	2.6
2003	26	26	25	96.2	24	92.3	24	92.3	14	53.8	10	38.5	23	88.5	1	3.8	24	92.3	0	0.0
2004	60	60	48	80.0	43	71.7	41	68.3	16	26.7	24	40.0	38	63.3	1	1.7	39	65.0	0	0.0
2005	41	41	37	90.2	35	85.4	35	85.4	20	48.8	15	36.6	34	82.9	1	2.4	35	85.4	0	0.0
2006	48	48	45	93.8	44	91.7	42	87.5	26	54.2	14	29.2	38	79.2	1	2.1	39	81.3	1	2.1
2007	61	61	55	90.2	55	90.2	54	88.5	32	52.5	21	34.4	52	85.2	1	1.6	54	88.5	0	0.0
2008	25	25	22	88.0	22	88.0	22	88.0	19	76.0	1	4.0	21	84.0	1	4.0	21	84.0	0	0.0
2009	22	22	20	90.9	19	86.4	19	86.4	11	50.0	6	27.3	18	81.8	1	4.5	18	81.8	1	4.5
2010	31	31	30	96.8	30	96.8	30	96.8	23	74.2	7	22.6	29	93.5	0	0.0				
2011	18	18	16	88.9	16	88.9	16	88.9	7	38.9	9	50.0								
2012	7	7	7	100.0	7	100.0	7	100.0												
2013	7	7	7	100.0	7	100.0														
2014	11	11	10	90.9																
2015	8	8																		

 3yr Average
 97.0
 54.4
 84.8

 Std Dev.
 4.3
 14.7
 2.8

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

Farly and Middle Grades Education

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained		Graduated 4 yrs*	Cohort F	Retained	Cumulative within		Cohort F	Retained		Graduated 6 yrs	Cohort I	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	146	144	125	86.8	117	81.3	115	79.9	78	54.2	33	22.9	105	72.9	6	4.2	110	76.4	0	0.0
2003	154	154	138	89.6	124	80.5	117	76.0	83	53.9	32	20.8	111	72.1	5	3.2	115	74.7	0	0.0
2004	165	165	149	90.3	138	83.6	135	81.8	83	50.3	48	29.1	127	77.0	4	2.4	129	78.2	3	1.8
2005	166	166	147	88.6	131	78.9	127	76.5	83	50.0	45	27.1	123	74.1	7	4.2	128	77.1	1	0.6
2006	156	156	146	93.6	128	82.1	126	80.8	85	54.5	36	23.1	115	73.7	3	1.9	118	75.6	1	0.6
2007	147	147	132	89.8	125	85.0	122	83.0	88	59.9	33	22.4	117	79.6	3	2.0	120	81.6	1	0.7
2008	144	144	124	86.1	115	79.9	119	82.6	91	63.2	24	16.7	108	75.0	7	4.9	110	76.4	1	0.7
2009	148	148	136	91.9	130	87.8	131	88.5	107	72.3	22	14.9	127	85.8	1	0.7	128	86.5	0	0.0
2010	136	136	123	90.4	118	86.8	117	86.0	89	65.4	25	18.4	111	81.6	4	2.9				
2011	189	189	173	91.5	171	90.5	169	89.4	137	72.5	31	16.4								
2012	161	161	142	88.2	135	83.9	133	82.6												
2013	175	175	166	94.9	162	92.6														
2014	149	149	141	94.6																
2015	137	137																		

 3yr Average
 92.6
 70.1
 81.5

 Std Dev.
 3.1
 3.3
 4.1

#### College of Health Sciences

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th I	-all			6th F	all			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained	Cumulative within	Graduated 4 yrs*	Cohort F	Retained	Cumulative within	Graduated 5 yrs	Cohort F	Retained		Graduated 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	8	8	7	87.5	6	75.0	6	75.0	4	50.0	2	25.0	5	62.5	1	12.5	6	75.0	0	0.0
2003	1	1	1	100.0	1	100.0	1	100.0	0	0.0	0	0.0	1	100.0	0	0.0	1	100.0	0	0.0
2004	11	11	9	81.8	7	63.6	8	72.7	5	45.5	2	18.2	6	54.5	1	9.1	7	63.6	0	0.0
2005	6	6	5	83.3	4	66.7	4	66.7	4	66.7	1	16.7	4	66.7	0	0.0	4	66.7	0	0.0
2006	8	8	8	100.0	7	87.5	5	62.5	3	37.5	1	12.5	5	62.5	0	0.0	5	62.5	0	0.0
2007	9	9	9	100.0	8	88.9	7	77.8	4	44.4	3	33.3	6	66.7	1	11.1	7	77.8	0	0.0
2008	13	13	9	69.2	9	69.2	9	69.2	6	46.2	3	23.1	8	61.5	0	0.0	8	61.5	0	0.0
2009	18	18	15	83.3	13	72.2	13	72.2	9	50.0	4	22.2	12	66.7	1	5.6	13	72.2	0	0.0
2010	12	12	11	91.7	11	91.7	11	91.7	5	41.7	3	25.0	10	83.3	0	0.0				
2011	15	15	14	93.3	13	86.7	12	80.0	11	73.3	2	13.3								
2012	11	11	10	90.9	9	81.8	8	72.7												
2013	14	14	11	78.6	10	71.4														1
2014	18	18	13	72.2																1
2015	18	18																		

 3yr Average
 80.6
 55.0
 70.5

 Std Dev.
 7.8
 13.4
 6.7

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

esio	

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained	Cumulative within	Graduated 4 yrs*	Cohort F	Retained	Cumulative within	Graduated 5 yrs	Cohort F	Retained		Graduated 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	55	55	51	92.7	46	83.6	42	76.4	10	18.2	29	52.7	33	60.0	5	9.1	36	65.5	1	1.8
2003	75	75	68	90.7	60	80.0	52	69.3	22	29.3	31	41.3	45	60.0	7	9.3	48	64.0	4	5.3
2004	86	86	69	80.2	66	76.7	64	74.4	30	34.9	36	41.9	57	66.3	8	9.3	64	74.4	1	1.2
2005	75	75	70	93.3	63	84.0	62	82.7	26	34.7	29	38.7	51	68.0	7	9.3	55	73.3	1	1.3
2006	81	81	69	85.2	62	76.5	60	74.1	24	29.6	31	38.3	46	56.8	10	12.3	51	63.0	3	3.7
2007	97	97	83	85.6	77	79.4	71	73.2	26	26.8	43	44.3	60	61.9	7	7.2	66	68.0	3	3.1
2008	97	96	85	88.5	77	80.2	71	74.0	27	28.1	44	45.8	58	60.4	8	8.3	66	68.8	2	2.1
2009	131	131	114	87.0	102	77.9	97	74.0	53	40.5	44	33.6	89	67.9	9	6.9	94	71.8	3	2.3
2010	108	108	92	85.2	91	84.3	84	77.8	41	38.0	40	37.0	74	68.5	4	3.7				
2011	99	98	84	85.7	78	79.6	79	80.6	38	38.8	37	37.8								
2012	112	112	102	91.1	95	84.8	94	83.9												
2013	89	89	79	88.8	76	85.4														
2014	124	124	113	91.1																
2015	97	97																		

 3yr Average
 90.3
 39.1
 69.5

 Std Dev.
 1.1
 1.0
 1.6

#### Nursing

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th I	Fall			6th I	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained	Cumulative within	Graduated 4 yrs*	Cohort F	Retained	Cumulative within	Graduated 5 yrs	Cohort F	Retained		Graduated 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	57	57	50	87.7	46	80.7	46	80.7	17	29.8	26	45.6	39	68.4	4	7.0	43	75.4	0	0.0
2003	63	63	55	87.3	55	87.3	53	84.1	35	55.6	16	25.4	48	76.2	3	4.8	51	81.0	0	0.0
2004	59	59	54	91.5	50	84.7	50	84.7	43	72.9	6	10.2	47	79.7	2	3.4	49	83.1	0	0.0
2005	48	48	44	91.7	42	87.5	41	85.4	33	68.8	7	14.6	39	81.3	0	0.0	40	83.3	0	0.0
2006	57	57	55	96.5	53	93.0	50	87.7	25	43.9	26	45.6	45	78.9	6	10.5	50	87.7	1	1.8
2007	50	50	47	94.0	45	90.0	43	86.0	36	72.0	8	16.0	44	88.0	0	0.0	44	88.0	0	0.0
2008	60	60	56	93.3	55	91.7	52	86.7	42	70.0	9	15.0	49	81.7	2	3.3	51	85.0	0	0.0
2009	54	54	49	90.7	50	92.6	48	88.9	35	64.8	10	18.5	43	79.6	2	3.7	46	85.2	0	0.0
2010	75	75	72	96.0	69	92.0	70	93.3	58	77.3	9	12.0	67	89.3	0	0.0				
2011	49	49	44	89.8	44	89.8	43	87.8	29	59.2	14	28.6								
2012	58	58	58	100.0	58	100.0	57	98.3												
2013	62	62	60	96.8	61	98.4														
2014	66	66	59	89.4																
2015	47	47																		

 3yr Average
 95.4
 67.1
 86.1

 Std Dev.
 4.4
 7.6
 1.4

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

	rit	

		Cohort	2nd	l Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained	Cumulative within	Graduated 4 yrs*	Cohort F	Retained	Cumulative within		Cohort F	Retained		Graduated 6 yrs	Cohort I	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	7	7	7	100.0	5	71.4	6	85.7	4	57.1	2	28.6	5	71.4	0	0.0	5	71.4	0	0.0
2003	15	15	12	80.0	12	80.0	12	80.0	11	73.3	1	6.7	12	80.0	0	0.0	12	80.0	0	0.0
2004	16	16	14	87.5	13	81.3	11	68.8	8	50.0	3	18.8	10	62.5	1	6.3	11	68.8	0	0.0
2005	15	15	13	86.7	13	86.7	13	86.7	8	53.3	5	33.3	12	80.0	0	0.0	12	80.0	0	0.0
2006	21	21	18	85.7	17	81.0	16	76.2	11	52.4	6	28.6	14	66.7	2	9.5	17	81.0	0	0.0
2007	16	16	16	100.0	14	87.5	13	81.3	9	56.3	4	25.0	12	75.0	1	6.3	12	75.0	1	6.3
2008	39	39	28	71.8	27	69.2	25	64.1	18	46.2	7	17.9	24	61.5	0	0.0	24	61.5	0	0.0
2009	42	42	34	81.0	32	76.2	31	73.8	25	59.5	6	14.3	28	66.7	2	4.8	29	69.0	0	0.0
2010	38	38	34	89.5	33	86.8	33	86.8	26	68.4	5	13.2	31	81.6	0	0.0				
2011	48	48	43	89.6	41	85.4	39	81.3	29	60.4	11	22.9								
2012	44	44	38	86.4	32	72.7	32	72.7												
2013	42	42	40	95.2	38	90.5														
2014	64	64	54	84.4																
2015	44	44																		

 3yr Average
 88.7
 62.8
 68.5

 Std Dev.
 4.7
 4.0
 5.5

#### Sports Medicine

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th l	Fall			6th I	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained		Graduated 4 yrs*	Cohort F	Retained	Cumulative within	Graduated 5 yrs	Cohort F	Retained		e Graduated n <b>6 yrs</b>	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	35	35	31	88.6	28	80.0	27	77.1	20	57.1	3	8.6	23	65.7	1	2.9	23	65.7	1	2.9
2003	31	31	30	96.8	28	90.3	25	80.6	20	64.5	7	22.6	27	87.1	0	0.0	27	87.1	0	0.0
2004	29	29	25	86.2	26	89.7	23	79.3	15	51.7	6	20.7	21	72.4	0	0.0	21	72.4	0	0.0
2005	30	30	29	96.7	29	96.7	28	93.3	24	80.0	4	13.3	27	90.0	2	6.7	28	93.3	1	3.3
2006	37	37	35	94.6	36	97.3	36	97.3	27	73.0	8	21.6	33	89.2	1	2.7	35	94.6	0	0.0
2007	35	35	31	88.6	28	80.0	28	80.0	21	60.0	7	20.0	26	74.3	1	2.9	27	77.1	0	0.0
2008	36	36	31	86.1	27	75.0	25	69.4	20	55.6	4	11.1	24	66.7	0	0.0	24	66.7	0	0.0
2009	33	33	31	93.9	30	90.9	30	90.9	23	69.7	7	21.2	29	87.9	1	3.0	30	90.9	0	0.0
2010	47	47	45	95.7	42	89.4	42	89.4	33	70.2	6	12.8	39	83.0	0	0.0				
2011	46	46	42	91.3	41	89.1	41	89.1	36	78.3	3	6.5								
2012	43	43	39	90.7	37	86.0	36	83.7												
2013	40	40	36	90.0	35	87.5														
2014	41	41	34	82.9																
2015	46	46																		

 3yr Average
 87.9
 72.7
 78.2

 Std Dev.
 3.5
 3.9
 9.9

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

Communication Sciences and Disorders

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th l	Fall			7th I	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained		Graduated 4 yrs*	Cohort F	Retained	Cumulative within		Cohort F	Retained	Cumulative within	Graduated 6 yrs	Cohort I	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	13	13	10	76.9	8	61.5	9	69.2	6	46.2	3	23.1	8	61.5	1	7.7	9	69.2	0	0.0
2003	9	9	9	100.0	8	88.9	8	88.9	8	88.9	0	0.0	8	88.9	0	0.0	8	88.9	0	0.0
2004	14	14	12	85.7	10	71.4	9	64.3	10	71.4	0	0.0	10	71.4	0	0.0	10	71.4	0	0.0
2005	12	12	11	91.7	9	75.0	5	41.7	7	58.3	2	16.7	7	58.3	1	8.3	8	66.7	0	0.0
2006	21	21	20	95.2	20	95.2	20	95.2	19	90.5	1	4.8	20	95.2	0	0.0	20	95.2	0	0.0
2007	14	14	13	92.9	12	85.7	10	71.4	12	85.7	0	0.0	12	85.7	0	0.0	12	85.7	0	0.0
2008	15	15	15	100.0	15	100.0	13	86.7	12	80.0	2	13.3	15	100.0	0	0.0	15	100.0	0	0.0
2009	25	25	21	84.0	20	80.0	18	72.0	15	60.0	5	20.0	20	80.0	0	0.0	20	80.0	0	0.0
2010	34	34	31	91.2	32	94.1	30	88.2	28	82.4	3	8.8	30	88.2	1	2.9				
2011	50	50	48	96.0	47	94.0	44	88.0	40	80.0	6	12.0								
2012	55	55	51	92.7	49	89.1	45	81.8												
2013	47	47	46	97.9	43	91.5														
2014	63	63	56	88.9																
2015	52	52																		

3yr Average 93.2 74.1 88.6 Std Dev. 10.0 8.4

#### College of Visual and Performing Arts

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained		Graduated 4 yrs*	Cohort I	Retained	Cumulative within	Graduated 5 yrs	Cohort F	Retained		Graduated 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	5	5	5	100.0	4	80.0	3	60.0	0	0.0	3	60.0	3	60.0	0	0.0	3	60.0	0	0.0
2003	11	11	9	81.8	9	81.8	8	72.7	4	36.4	4	36.4	8	72.7	0	0.0	8	72.7	0	0.0
2004	7	7	5	71.4	5	71.4	5	71.4	4	57.1	1	14.3	5	71.4	0	0.0	5	71.4	0	0.0
2005	6	6	4	66.7	4	66.7	3	50.0	2	33.3	0	0.0	2	33.3	0	0.0	2	33.3	0	0.0
2006	10	10	8	80.0	7	70.0	6	60.0	5	50.0	2	20.0	6	60.0	1	10.0	7	70.0	0	0.0
2007	9	9	6	66.7	7	77.8	7	77.8	3	33.3	4	44.4	6	66.7	1	11.1	6	66.7	1	11.1
2008	13	13	9	69.2	7	53.8	7	53.8	5	38.5	2	15.4	7	53.8	0	0.0	7	53.8	0	0.0
2009	18	18	16	88.9	16	88.9	15	83.3	10	55.6	4	22.2	13	72.2	2	11.1	15	83.3	0	0.0
2010	11	11	10	90.9	9	81.8	9	81.8	3	27.3	5	45.5	4	36.4	4	36.4				
2011	13	13	9	69.2	7	53.8	6	46.2	3	23.1	3	23.1								
2012	10	10	9	90.0	9	90.0	8	80.0												
2013	11	11	11	100.0	11	100.0														
2014	6	6	6	100.0																
2015	9	9																		
		•	Average	96.7						35.3							•	67.9		

12.1

35.3 14.4 Std Dev. 4.7

\*Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th F	all			6th F	all			7th F	all	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort I	Retained	Cohort I	Retained		Graduated 4 yrs*	Cohort F	Retained		Graduated 5 yrs	Cohort	Retained		e Graduated n 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2003	Prior to Fa	II 2004, Art	was in the (	College of A	rts and Sci	ences														
2004	26	26	20	76.9	15	57.7	15	57.7	10	38.5	5	19.2	13	50.0	2	7.7	13	50.0	0	0.0
2005	22	22	18	81.8	15	68.2	15	68.2	11	50.0	3	13.6	14	63.6	0	0.0	14	63.6	0	0.0
2006	17	17	14	82.4	12	70.6	11	64.7	10	58.8	2	11.8	12	70.6	0	0.0	12	70.6	0	0.0
2007	17	17	12	70.6	11	64.7	9	52.9	5	29.4	4	23.5	7	41.2	0	0.0	7	41.2	0	0.0
2008	20	20	15	75.0	10	50.0	10	50.0	6	30.0	4	20.0	8	40.0	2	10.0	9	45.0	1	5.0
2009	31	31	31	100.0	24	77.4	24	77.4	17	54.8	7	22.6	21	67.7	1	3.2	22	71.0	1	3.2
2010	20	20	19	95.0	18	90.0	16	80.0	12	60.0	1	5.0	12	60.0	1	5.0				
2011	32	32	26	81.3	25	78.1	24	75.0	20	62.5	4	12.5								
2012	28	28	25	89.3	23	82.1	21	75.0												
2013	11	11	10	90.9	9	81.8														
2014	11	11	11	100.0																
2015	18	18						1				1								

 3yr Average
 93.4
 59.1
 52.4

 Std Dev.
 4.7
 3.2
 13.2

#### Music Theory, History, and Composition

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th F	Fall			6th I	all			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort I	Retained	Cohort F	Retained	Cohort F	Retained		Graduated 4 yrs*	Cohort F	Retained		Graduated 5 yrs	Cohort F	Retained		e Graduated n 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	8	8	8	100.0	7	87.5	7	87.5	5	62.5	2	25.0	6	75.0	0	0.0	7	87.5	0	0.0
2003	5	5	4	80.0	3	60.0	3	60.0	1	20.0	1	20.0	2	40.0	0	0.0	2	40.0	0	0.0
2004	5	5	5	100.0	4	80.0	4	80.0	2	40.0	2	40.0	4	80.0	0	0.0	4	80.0	0	0.0
2005	3	3	3	100.0	3	100.0	3	100.0	2	66.7	1	33.3	3	100.0	0	0.0	3	100.0	0	0.0
2006	8	8	7	87.5	7	87.5	7	87.5	5	62.5	2	25.0	6	75.0	1	12.5	7	87.5	0	0.0
2007	10	10	10	100.0	8	80.0	8	80.0	3	30.0	5	50.0	6	60.0	2	20.0	8	80.0	0	0.0
2008	8	8	7	87.5	7	87.5	7	87.5	4	50.0	2	25.0	5	62.5	1	12.5	5	62.5	1	12.5
2009	8	8	6	75.0	6	75.0	4	50.0	4	50.0	1	12.5	5	62.5	0	0.0	5	62.5	0	0.0
2010	6	6	4	66.7	4	66.7	4	66.7	1	16.7	2	33.3	3	50.0	0	0.0				
2011	11	11	10	90.9	10	90.9	8	72.7	5	45.5	2	18.2								
2012	7	7	6	85.7	4	57.1	4	57.1												
2013	12	12	11	91.7	11	91.7														
2014	7	7	4	57.1																
2015	11	11																		

 3yr Average
 78.2
 37.4
 68.3

 Std Dev.
 15.1
 14.8
 8.2

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

Mi	ISIC	Fdi	icatio	ì

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th l	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained		Graduated 4 yrs*	Cohort F	Retained	Cumulative within	Graduated 5 yrs	Cohort F	Retained		Graduated 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	79	79	68	86.1	60	75.9	54	68.4	27	34.2	28	35.4	48	60.8	7	8.9	54	68.4	0	0.0
2003	78	77	68	88.3	63	81.8	57	74.0	32	41.6	25	32.5	53	68.8	4	5.2	54	70.1	2	2.6
2004	78	78	66	84.6	67	85.9	65	83.3	35	44.9	29	37.2	58	74.4	4	5.1	61	78.2	1	1.3
2005	76	76	67	88.2	61	80.3	60	78.9	36	47.4	25	32.9	55	72.4	4	5.3	57	75.0	1	1.3
2006	94	94	86	91.5	79	84.0	76	80.9	40	42.6	34	36.2	66	70.2	6	6.4	69	73.4	2	2.1
2007	80	80	74	92.5	65	81.3	64	80.0	28	35.0	34	42.5	54	67.5	9	11.3	58	72.5	2	2.5
2008	79	79	74	93.7	70	88.6	69	87.3	50	63.3	14	17.7	63	79.7	2	2.5	64	81.0	0	0.0
2009	62	62	56	90.3	55	88.7	54	87.1	35	56.5	13	21.0	50	80.6	2	3.2	51	82.3	2	3.2
2010	68	67	63	94.0	59	88.1	58	86.6	29	43.3	26	38.8	48	71.6	1	1.5				
2011	77	77	73	94.8	72	93.5	70	90.9	35	45.5	35	45.5								
2012	79	79	74	93.7	69	87.3	66	83.5												
2013	62	62	58	93.5	57	91.9														
2014	57	57	54	94.7																
2015	51	51																		

 3yr Average
 94.0
 48.4
 78.6

 Std Dev.
 0.5
 5.8
 4.3

#### Theatre Arts

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th I	all			6th I	Fall			7th I	all	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort I	Retained	Cohort I	Retained	Cumulative within	Graduated 4 yrs*	Cohort F	Retained	Cumulative within	Graduated 5 yrs	Cohort I	Retained		Graduated 6 yrs	Cohort I	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2003	Prior to Fa	II 2004, The	atre Arts wa	as in the Co	ollege of Ar	ts and Scier	nces													
2004	23	23	19	82.6	16	69.6	16	69.6	8	34.8	7	30.4	13	56.5	0	0.0	13	56.5	0	0.0
2005	24	24	18	75.0	15	62.5	14	58.3	11	45.8	1	4.2	13	54.2	0	0.0	14	58.3	0	0.0
2006	28	28	19	67.9	18	64.3	17	60.7	12	42.9	3	10.7	14	50.0	1	3.6	15	53.6	0	0.0
2007	13	13	12	92.3	12	92.3	11	84.6	9	69.2	2	15.4	12	92.3	0	0.0	12	92.3	0	0.0
2008	16	16	14	87.5	10	62.5	10	62.5	7	43.8	2	12.5	10	62.5	0	0.0	10	62.5	0	0.0
2009	23	23	19	82.6	18	78.3	18	78.3	10	43.5	6	26.1	16	69.6	0	0.0	16	69.6	0	0.0
2010	12	12	10	83.3	9	75.0	8	66.7	7	58.3	2	16.7	8	66.7	0	0.0				
2011	21	21	17	81.0	15	71.4	14	66.7	11	52.4	2	9.5								
2012	11	11	8	72.7	8	72.7	7	63.6												
2013	26	26	25	96.2	25	96.2														
2014	25	25	21	84.0																
2015	21	21																		

 3yr Average
 84.3
 51.4
 74.8

 Std Dev.
 9.6
 6.1
 12.7

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.

## **Educational Services**

		Cohort	2nd	Fall	3rd	Fall	4th	Fall		5th	Fall			6th	Fall			7th	Fall	
Fall Cohort	Initial Cohort	After IPEDS	Cohort F	Retained	Cohort F	Retained	Cohort F	Retained		Graduated 4 yrs*	Cohort F	Retained		Graduated 5 yrs	Cohort F	Retained		Graduated 6 yrs	Cohort	Retained
		Exclusion	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
2002	664	664	542	81.6	470	70.8	442	66.6	205	30.9	224	33.7	370	55.7	39	5.9	404	60.8	12	1.8
2003	596	596	498	83.6	432	72.5	407	68.3	185	31.0	193	32.4	317	53.2	43	7.2	356	59.7	12	2.0
2004	610	608	492	80.9	412	67.8	395	65.0	195	32.1	188	30.9	338	55.6	40	6.6	364	59.9	12	2.0
2005	637	635	524	82.5	456	71.8	437	68.8	205	32.3	210	33.1	374	58.9	30	4.7	399	62.8	12	1.9
2006	591	591	508	86.0	446	75.5	430	72.8	204	34.5	205	34.7	358	60.6	31	5.2	380	64.3	8	1.4
2007	688	687	551	80.2	499	72.6	467	68.0	237	34.5	210	30.6	394	57.4	38	5.5	431	62.7	8	1.2
2008	687	687	560	81.5	491	71.5	472	68.7	229	33.3	210	30.6	395	57.5	45	6.6	424	61.7	14	2.0
2009	792	792	660	83.3	581	73.4	557	70.3	239	30.2	288	36.4	473	59.7	45	5.7	507	64.0	14	1.8
2010	598	598	501	83.8	452	75.6	430	71.9	196	32.8	212	35.5	354	59.2	37	6.2				
2011	707	707	600	84.9	539	76.2	508	71.9	259	36.6	218	30.8								
2012	789	789	680	86.2	617	78.2	590	74.8												
2013	753	753	642	85.3	579	76.9														
2014	693	693	594	85.7																
2015	592	592																		

 3yr Average
 85.7
 33.2
 62.8

 Std Dev.
 0.4
 2.7
 0.9

<sup>\*</sup>Number and percent of original cohort who have graduated within 4 years (before 5th fall). With degree sweeps and IPEDS exclusions through 10/2015.